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1 11,500,000MHLT 10,000 20,000 44 510 52,760 74510 82,760
2 (1,500,001~1,600,000H 13,000 20,000 44 510 52,760 77,510 85,760
3 [1,600,001~1,700,000H 16,000 20,000 44510 52,760 80,5610 88,760
4 11,700,001 HU £ 17,600 20,000 44510 52,760 82,110 90,360
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B TXHED TN E 7 =3 =4 = 5
DOERHE 183 313 542 609 679 744 813
QARG EME/B 22 22 22 22 22 22 22
QEREHEINE/H 80 80 80 80 80 80 80
ORI FEWNEHEKRTNE /A 40 40 40 40 40 40 40
ONEBEZFNERENE ] /B 12.8% 12.8% 12.8% 12.8% 12.8% 12.8% 12.8%
1B EYVOSEE (HPT) 7,303 11,849 19,857 22,200 24,647 26,920 29,333
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